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Kevin approached me a few weeks ago. He said, “You should attend to Luke’s class.” We
discussed why | should take his class for an hour. After that, | finally decided to join to his

class.

7 o2 wIZtol S0{7p7| 0{AEH BEES D2M|R. ( )

14

A: The teacher gave us a surprise quiz today.

B:Ugh,
@ I didn't expect that @ That took me by surprise
® I didn't see that coming @ It took me off guard

® | was expecting that

otz Ch=toll M ZE % into2] X2 = MASH US NENL. ( )

Jayden:| can't believe that some people are really into rock climbing. | tried it yesterday
and | feel like somebody beat me like crazy.

Kevin: Believe it or not, I'm so into it. Im sure you will enjoy it once you do it several times.

(D To move physically inside or toward something
@ To have strong interest or passion for something
® To be forced to do something

@ To dislike something

® To be aware of something
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1. attendto — attend, jointo — join

2.© U= RS ollgst AUCEEH= L 2, BI7H S0
77| Of M5t #HO|CE

3.0



